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Accounting chapter 6 test answers

Do you want to quote, share, or modify this book? Attribution Information If you want to re-distribute all or part of this book in print format, all physical pages must include the following attribution © //openstax.org/books/principles-financial-accounting/pages/1-why-it-matters Textbook content created by OpenStax is licensed under the
Creative Commons Attribution Non-Commercial Sharelike License 4.0 license. OpenStax hames, open stax logos, open stax book covers, open stax CNX names, and OpenStax CNX logos are not subject to Creative Commons licenses and may not be copied without the prior written consent of Rice University. Page 2 1.LO 6.1 What are
the benefits to retailers that offer discounts to customers? What will | pay in cash if the retailer receives a discount?5. WHAT are the two advantages and disadvantages of the LO 6.2 perpetual inventory system?6. LO 6.2 What are the two advantages and disadvantages of a scheduled inventory system?7. LO 6.2 Sunrise Flowers will sell
flowers to customers on October 18 for 130 dollars, and the cost of selling them to Sunrise will be 50 dollars. What entries do sunrise flowers need to be aware of this sale if they use a regular inventory system?8. LO 6.2 Sunrise Flowers will sell flowers to customers on October 18 with a credit of 130 dollars, and the cost of selling them to
Sunrise will be 50 dollars. If Sunrise Flowers uses a permanent inventory system, what entry is required to recognize this sale? 10. If a LO 6.3 retailer buys inventory for an amount of 750 dollars, returns 30 dollars in stock for a condition 2/10, n/60, and a full refund, and receives an allowance of 95 dollars, what is the discount amount if
the retailer transfers the payment within the discount period?LO 6.3A Retailer has found that 50% of the inventory items shipped from the manufacturer are damaged. The original purchase of all the stock was . The retailer returned 20 percent of the damaged inventory for a full refund and decided to store the remaining 80 percent of the
damaged inventory. What is the value of the returned item? Two situations in which cash is transferred from LO 6.4Name to a customerRetailers after purchase. 13. LO 6.4 Customers buy goods for a value of USD 340, purchase goods on the condition of 3/10, n/30, return 70 dollars in stock for full refund, If you receive a dollar allowance,
how much discount will be applied if the customer transfers the payment within the discount period? The original purchase of all the goods was .3,600. The customer has decided to refund 35% of the damaged goods in full and keep the remaining 65%. What is the value of the returned item? What is the main difference between LO 6.5
FOB destination and FOB shipping point?16. LO 6.5A buyers buy goods worth 250 dollars in credit from the seller. The shipping cost is 50 dollars. The conditions of purchase are 2/10, n/30, FOB destination. If there are journal entries or entries, what does the purchaser of these transactions record? The LO 6.5A seller credits the
customer with goods worth .800 and pays the cost to the seller of 300 dollars. The shipping cost is 100 dollars. The conditions of sale are 2/10, n/30, FOB destination. If there are journal entries or entries, will the seller of these transactions be recorded?18. LO 6.5 Which statement and statement where is the shipment out recorded? For
LO 6.6 and below, select Sunrise Motors account information. Net sales: COGS: .120,470;Sales Discount: .44,760.Considering this information, what is Sunrise Motors' gross profit margin? (Round to the nearest percentage.) 20. What is the difference between LO 6.6 Multistep and Simple Profit and Loss Statement?LO 6.6 How can
investors or lenders use gross margin to make financial contribution decisions? For LO 6.6 and below, select the account information for the August sundries. Net sales: COGS: .300,840;0perating cost: 45,770;Sales discount: If you purchase inventory on the condition that it is n/60, return 120 dollars in stock for a full refund, and receive
an allowance of 70 dollars, what would the discount be if the retailer transferred the payment within the discount period? The original purchase of all the goods was .5,950. The customer has decided to refund 40% of the damaged goods in full and keep the remaining 60%. What is the value of the returned goods?what is the difference
between the reporting requirements for customer returned goods in a ready-to-sell state under the LO 6.7 period inventory system and the regular inventory system?Net (total sales reduction returns), the maximum number of days in the credit period that you are reading on free preview page 3, is not displayed in this preview. Preview.
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